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Week 2: Growth Theory and Empirics 

 
Lecture 4: Growth Accounting 
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Growth Accounting--Methodology 
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Growth Accounting--Results 

Growth Accounting results for China 
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Stylized Facts for China 
TFPG 
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Most studies attribute TFPG to the ‘usual suspects’: 

 

 Under-deflation of nominal GDP (1- 1.5%) 

 

 Labor reallocation from the rural to urban sector (1%) 

 

 Increasing educational attainment of the labor force (1%) 

 

Conclusion:  

 

 TPFG is due to one-off factors and therefore is not sustainable 

 

There has been no technological change!   

 

Seeing is not believing!! 

 

Accounting for TFPG in China 

Has China relied too much on investment and not enough 

on technical change (TPFG) to drive growth? Answer 

1. How does technology change occur in a latecomer developing country? 

 (1) by investing in imported machinery and equipment 

 (2) by attracting foreign-direct investment 

 (3) by adopting international best-practices of management 

 The effect of technology change is disguised as the effect of investment 

 

2. What causes the reallocation of labor from agriculture to industry? 

 Answer: Investments that create jobs in industry for rural workers 

 In surplus labor economy, the growth of employment is endogenous (i.e. 

depends of investment), not exogenous, as assumed in the model 

 

3. Growth accounting methodology by using net investment (gross investment 

minus depreciation) under estimates the effect of investment.  Depreciation 

is mainly due to obsolescence, not wear and tear, and therefore is not a 

social cost and should not be deducted from gross investment. 
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Growth Accounting in Taiwan: Gross vs. Net Investment 


